John Wollaston Anglican Community School



YEAR NINE 2024

2024

24 931 09 B

ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 15th December 2023 Using "DB7J" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be dispatched for FREE no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the return date of Friday 15th December 2023.

Orders placed after the 15th December will incur a late fee of up to \$17.50. Please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	YEAR NINE					
	COMPUTER SCIENCE No text required.					
	CREATIVE COMPUTING No text required.					
	EMERGING WRITERS: MASTER CLASS Specialised Subject Fee - \$180 to cover costs of workshops and Writer in Resi	dence	(charged to	School Acco	unt)	
	ENGLISH					
P30389	Text Book Levy: \$30.00 (charged to the School Account in lieu of set novels) Guide To Writing: Student Toolkit (Print & Digital) [Adam Kealley & Fabrice Wilmann]	1		1	29.95	29.95
P50510	Retain from the previous year. If new enrolment, the purchase of text is require Display Book A4 20 Pocket Mid Blue Refillable	d. 2		2	2.15	4.30
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	3		2	1.30	2.60
P51157	Highlighters Pkt 4 Micador ECO	4	<u> </u>	1	3.50	3.50
	FOOD SPECIALISATION Specialised Subject Fee of \$70.00 (charged to the School Account)					
	GARDENING AND ENTERPRISE No text required.					
	HEALTH					
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	5		1	1.30	1.30
	HUMANITIES					
	Textbook levy: \$30.00 (charged to the School Account in lieu of Jacaranda Hur	manitie	s & Social S	ciences 9 W	A Curriculu	ım 2E
P13383	learnON & Print \$64.95) Oxford Big Ideas WA Humanities & Soc Sci 9 Skills & Act Bk [Conti et al]	6		1	19.95	19.95
P50510	Display Book A4 20 Pocket Mid Blue Refillable	7	<u> </u>	1	2.15	2.15
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	8		2	2.15	4.30
	DIGITAL TECHNOLOGIES No text required					
	JAPANESE					
	Education Perfect Subscription \$30.00 (Included in Service Levy)					
P15534	Obento Supreme - Workbook (Print & Digital) 5E [Fisher et al]	9		1	47.95	47.95
P51834	Retain workbook for following year. Display Book A4 20 Pocket Insert Cover Black Non Refillable	10		1	4.85	4.85
P50451	Exercise Book A4 96 Page 8mm with Margin Spirax #108	11		1	1.65	1.65
P51665	Whiteboard Marker Artline Supreme Black	12		1	2.25	2.25
P51666	Whiteboard Marker Artline Supreme Blue	13		1	2.25	2.25
	MATERIALS AND DESIGN					
DEGG :	Specialised Subject Fee of \$45.00 (charged to the School Account)		_		2	
P56081 P56115	Marker Artline #200 Black 0.4mm Marker Artline #210 Black 0.6mm	14 15		1	3.80	3.80
P56172	Pencil (HB) Tradition	15 16		1 1	3.80 0.85	3.80 0.85
P56252	Pencils-Coloured 12's Colourush	17	5	1	4.50	4.50

Please tick the items required in the box provided

Ø

Item Unit Item Qty Total Office Use Description No. Reqd Reqd Price \$ Amount \$ **MATHEMATICS** Mathspace Subscription: \$25.00 (Included in Service Levy) Scientific Calculator, retained from Year 8, or Please select: (ABACUS-SXIIMATRIXN) using the separate Calculator Order Form. Please select ONE of the following Choose One There are two versions of Year 9 Mathematics texts. Please purchase only one of these. The Head of Mathematics will advise parents via SEQTA which version to buy for your child prior to the ordering deadline. P04696 Cambridge AC Essential Maths Yr 9 (Print & Digital) 3E [Greenwood et al] 72.95 72.95 -OR -**OPTION 2 (CORE):** P19463 Cambridge AC Essential Maths CORE Yr9 (Print & Digital) [Greenwood et al] 1 72.95 72.95 P55471 Display Book A4 20 Pocket Orange Non-Refillable 20 4.95 4.95 1 P50328 Exercise Book A4 128 Page 8mm with Margin Spirax #110 21 2 2.15 4.30 P56210 Handy Pouch A4 (360mm x 260mm) Micador 22 6.05 6.05 1 P52996 Mathomat V3 - Designer Pack in wallet with Poster Revised 23 14.45 14.45 P56288 24 Pencil Mechanical Faber 0.5mm with spare Eraser and Leads 3 75 3 75 1 P56409 Ruler 150mm Plastic Clear 25 0.85 0.85 P51665 26 2.25 2.25 Whiteboard Marker Artline Supreme Black 1 P51666 Whiteboard Marker Artline Supreme Blue 27 2.25 2.25 **MUSIC** Year 9 Music booklet: \$6.00 (charged to the School Account) **MUSICAL THEATRE** Musical Theatre booklet: \$6.00 (charged to the School Account) **OUTDOOR RECREATION** Specialised Subject Fee of \$95.00 (charged to the School Account). No text required. PHYSICAL EDUCATION No text required. P50922 Sunscreen SPF 50+ UV Ultra Roll On 50ml/75ml Anti Cancer 15.30 28 15.30 1 x Mouth guard (for contact and various sports) **RELIGIOUS AND VALUES EDUCATION** P50281 Document Envelope A4 PP With Press Stud Clear 29 1.25 1.25 P50450 Exercise Book A4 64 Page 8mm with Margin Spirax #106 30 1 1.30 1.30 **SCIENCE** Education Perfect subscription \$30.00 (Included in Service Levy) P50175 Display Book A4 40 Pocket Refillable 31 1 6.15 6.15 P50328 2 Exercise Book A4 128 Page 8mm with Margin Spirax #110 32 2.15 4.30 Gizmos simulations subscription \$5.00 (Included in Service Levy) SCIENCE CHALLENGE Specialised Subject Fee of \$35.00 (charged to the School Account) P50175 Display Book A4 40 Pocket Refillable 6.15 6.15 P50328 Exercise Book A4 128 Page 8mm with Margin Spirax #110 34 2.15 2.15 THEATRE ARTS

Theatre Arts booklet: \$6.00 (charged to the School Account)

Please tick the items required in the box provided \downarrow

 \checkmark

Office Use	Description	ltem No.	ltem Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	VISUAL ARTS					
	Art Kit supplied at school: \$36.00 (Charged to the School Acco	unt)				
	WELLBEING					
	Students will be provided with the Student Book - Growing Mer to the School Account. The text will be used in Years 9 and 10.		ne cost of the	text is \$26.0	0 and will	be charged
	GENERAL STATIONERY					
P55110	Binder A4 2D Ring 25mm PE Black	35		1	5.35	5.35
P55710	Dividers Index A4 5 Tab PVC Multi Coloured	36		3	2.20	6.60
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	37		2	3.80	7.60
P56414	Ruler 300mm Plastic Clear	38		1	0.75	0.75
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	39		1	14.05	14.05
	Number of Boxes ticked:					
	Postage (Home	delivery only)	\$0.0	0		
	ESTIMATED AMO (PRICES CORRECT	-	\$			